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UNIT V: (Important Questions)

1.

w

10.
11.

12.

What do you understand by Instantaneous Description of a Turing Machine ? Design a Turing machm_e that
d as follows : f{m,n) =m * n.

computes the integer function f which multiplies two given positive integers define
Let A = {001, 0011, 11, 101} and B = {01, 111, 111, 010}. Does the pair (A, B) have Post Correspondence (PC)

solution ? Does the pair (A, B) have Modified Post Correspondence (MPC) solution 2(UPTU 201 1-12)

Prove that recursively enumerable languages are closed under intersection.

What do you understand by undecidable problem ? State the Halting Problem and prove that Halting problem is
undecidable.(UPTU 2013-14)

Design a TM for the following language:L= { a"b"c" |n>1}

(UPTU 2018-19)
Writeshortnoteon: (UPTU 2018-19)
a. RecursiveLanguageand RecursivelyEnumerableLanguage.

b. PCPproblemandModifiedPCPProblem.

Construct a turing machine for reversing a string.
Let T1 and T2 be two Turing machines; compute the functions fl and f2 from N to N (where N is a natural

number), respectively, construct a Turing machine that computes the function min (f1 , £2 ).(UPTU 2013-14)
Prove that every recursively enumerable language where complent is closed must be recursive.

Write a short note on the Multi Tape Turing Machine.
Design a Turing Machine that accept the language L = {ww" | w is in (0+1)* and w"represents everse w}.(UPTU

2010-11)
Design a Turing Machine that can compute proper subtraction i.e. m$n, where m and n are positive integers, m$n

is defined as m-n if m>n n.<and 0 if m.




